RUR)—hvyT AUSR

R FF014108138 Y=Y %A9VAbI V79375 1 3-2
g5z K % ouT IN GR HDCP NET e
B AlE =X 37 | 4 18 | 10.0 | 68.0
=2 )l % 36 | 38 | 74 3.0 | 71.0
3 BN M 40 | 41 81 8.0 | 73.0
4 HERK =E=F 42 | M 83 9.0 | 74.0
5 HE R= 42 | 4 83 8.0 | 75.0
6 | T3H ZEHE 39 | 42 | 81 5.0 | 76.0
1 #FHA EZ- 44 | 43 | 87 | 10.0 | 71.0
8 |l & 44 | 44 | 88 | 10.0 | 78.0
9 # M@= 40 | 46 | 86 6.0 | 80.0
10 B+ BC 49 | 4 90 | 10.0 | 80.0
1 BR X% 45 | 45| 90  10.0 | 80.0
12 lLE =HE 43 | 49 | 92  11.0 | 81.0
13 | EX [ 46 | 42 | 88 5.0 | 83.0
14 ||g 2 49 | 47 | 96  10.0 @ 86.0
15 B EE 49 | 49 | 98  11.0 | 87.0
16 &£F R 55 | 44 | 99 | 10.0 | 89.0
17 HR &= 46 | 54 | 100 & 11.0 | 89.0
18 MfA =E 54 | 47 | 101 | 10.0 | 91.0
19 ke —H 50 | 54 | 104 H 10.0 | 94.0
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E £z K £ ouT IN GR HDGP NET =
& Bk B= 44 48 92 21.0 71.0
#f i 8- 49 51 100 26.0 74.0
3 TH &I 51 54 105 30.0 75.0
4 ik RIE 46 46 92 16.0 76.0
5 #H =EE 51 44 95 19.0 76.0
6 R AR 49 48 97 21.0 76.0
i R Jeds b4 56 110 30.0 80.0
8 Il Ex 54 46 100 19.0 81.0
9 T RF 49 47 96 14.0 82.0
10 |EB =|A 46 50 96 13.0 83.0
11 |AH BF 49 48 97 13.0 84.0
12 |BEK RF 48 53 101 17.0 84.0
13 |BE &K 47 57 104 20.0 84.0
14 | KF FA 50 47 97 12.0 85.0
15 |hE R 48 54 102 16.0 86.0
16 |BkE HHE 48 54 102 15.0 87.0
17 |#&42XK #EF 56 52 108 21.0 87.0
18 |BER &R 51 49 100 12.0 88.0
19 |B&fM X 57 b5 112 24.0 88.0
20 |¥FH HBZER 53 49 102 12.0 90.0
21 | R+t = 55 49 104 14.0 90.0
22 A ® 57 52 109 17.0 92.0
NR |BX ®‘Z
OPEN |BAX F0it 49 48 97
GUEST kB E1ih 43 4 84
Ao & 4 44 85
A xZ 42 47 89
IR <8I 46 46 92
®k = 56 42 98
ERR BF 56 47 103
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